TH2OEE ERINHTH

(Bfz:[)

#BERB BIL=7 LA BETENA &Et
NHRREEE 453,000,000 — 453,000,000
MeEx TR 297,000,000 - 297,000,000
BENEH 74,000,000 - 74,000,000
BENEXENEH 6,000,000 - 6,000,000
FMAEENAH 76,000,000 — 76,000,000
REEE — 333,000,000 333,000,000
RBEMEEE - 300,000,000 300,000,000
| FARIEBERN - 23,000,000 23,000,000
Al zothnEz — — -
[EREE 9,000,000 - 9,000,000
EEARIREES 9,000,000 — 9,000,000
BEREHISINA — 24,500,000 24,500,000
BREREMEISINA — 24,500,000 24,500,000
ZDNEZE — 10,000,000 10,000,000
HURA 10,000,000 10,000,000
BEEFTEIRAG (D) 462,000,000 367,500,000 829,500,000
AHE 337,000,000 214,000,000 551,000,000
‘EMmENZH 14,000,000 - 14,000,000
A=kt Al 175,000,000 132,000,000 307,000,000
BEE 37,000,000 38,000,000 75,000,000
FEEHBEHR ST H 50,000,000 10,000,000 60,000,000
TER B B H 20,000,000 4,000,000 24,000,000
BRI 2,000,000 3,000,000 5,000,000
EEETIE T H 39,000,000 27,000,000 66,000,000
ExE 66,500,000 24,500,000 91,000,000
= HWREXH 44,000,000 12,000,000 56,000,000
® REHEEXIH 1,000,000 300,000 1,300,000
g BEREETH 500,000 200,000 700,000
= REMHEH - 6,000,000 6,000,000
&£ HEARRE 17,000,000 5,000,000 22,000,000
3 PRFLE T H - - -
I SHEMEXH 1,000,000 1,000,000 2,000,000
* HEHREXL - - -
BRI - - -
MEXH 3,000,000 - 3,000,000
¥ Z Dt - - -
m EBE 32,600,000 37,340,000 69,940,000
BAEEEXH 7,000,000 5,000,000 12,000,000
REXEEXH 500,000 600,000 1,100,000
& H 1,500,000 200,000 1,700,000
HEREXH 700,000 400,000 1,100,000
HEMREIH - - -
ENRI S ARE X H - - -
KENREZH - - -
BiEETH 3,000,000 1,240,000 4,240,000
BEEKREH 1,000,000 1,000,000 2,000,000
EREXH 400,000 - 400,000
[ E S H - - -
XBRAEXE 7,000,000 8,000,000 15,000,000
FHHZH 1,000,000 200,000 1,200,000
BERKREXZE 1,500,000 700,000 2,200,000
EEfXZH 4,000,000 - 4,000,000
THEYERGHZH 4,000,000 20,000,000 24,000,000
AHRARXE - - -
MEXH - - -
ZTDMEFEXH 1,000,000 - 1,000,000
EE TR HE(2) 436,100,000 275,840,000 711,940,000
EEZHRE(3)=(1)-(2) 25,900,000 91,660,000 117,560,000
i AN B EILEEIION 0 0 0
= | A Me SR B (B U AET (4) 0 0 0
! [ X[ EeEEmREZH 55,720,000 373,280,000 429,000,000
= MRk B & S AT (5) 55,720,000 373,280,000 429,000,000
| R E R e % =% (6)=(4)-(5) —55,720,000 —373,280,000 —429,000,000
. A X D EEAEIRA 0 0 0
o | A L ZERRDEBRASUNA 0 0 0
n ZDMDEENI- K BRAE (7) 0 0 0
: BUEEXH 0 0 0
R X | HERSEEASTH 0 0 0
3 || S—ERRSEEAS I 0 0 0
L ZomoEBICLEXHE (8) 0 0 0
TORDEDE SN K =58 (9)=(7)-(8) 0 0 0
FREUO) 0 0 0
LA 2 =28(11)=(3)H6)+(9)(10) —29,820,000 —281,620,000 -311,440,000




